
Universal Ladder Hoop 
RUH

Rhino-Rack AUSTRALIA 
22A Hanson Pl,  
Eastern Creek, NSW, 2766
(02) 8846 1900
rhinorack.com.au

Rhino-Rack USA 
Unit D, 2450 Airport Blvd,  
Aurora, CO, 80011 
877-744-6622
rhinorack.com

Rhino-Rack CANADA 
19100 Airport Way 
Pitt Meadows, BC V3Y OE2
rhinorack.ca

Doc. No: RR68 
Issue No: 03

Issue Date: 30/08/2021

Important:
1. Check the Rhino-Rack website to ensure you have the latest issue of these instructions.
2. Please refer to your fitting instruction to ensure that the roof racks are installed in the correct locations.
3. Check the contents of kit before commencing fitment and report any discrepancies.
4. Place these instructions in the vehicle’s glove box after installation is complete.
5. These instructions must be followed for warranty to be upheld.

Fit Time: 5mins 



Tools Required:
 
T1 - 13mm Socket Wrench/Spanner
T2 - Scissors

Parts List

!

Universal Ladder Hoop

M8 Channel Nut Instruction

M8 x 25 Hex Head Bolt M8 x 17 Flat WasherM8 Spring Washer

x2

x2 x1

A

E E

x2B x2C x2D

Page 2 of 3

RUH Instructions



1

3

5

2

4

8-10Nm
6-7.5LB/FT

Finger Tighten only

Tighten bolt and ensure the 
M8 Nut has rotated in the 
channel

T1

Trim rubber buffer strip to suit and insert into channel

T2

A

B
C
D

E

E

Page 3 of 3

RUH Instructions


